Parish	Parish Precept	Tax Base (Band D)	2016/17 Parish Precept Basic Tax Rate (Band D)	2015/16 Parish Precept Basic Tax Rate (Band D)	% change from 2015/16 to 2016/17	Band D Charge (Parish and Herefordshire Council's Basic Rate - £1,324.83)
	£		£	£	%	£
Abbeydore & Bacton Group Parish Council	7,200	157	45.80	44.24	3.5%	1,370.63
Aconbury Parish Meeting	125	36	3.43	3.36	2.1%	1,328.26
Acton Beauchamp Group Parish Council	5,000	178	28.11	22.45	25.2%	1,352.94
Allensmore Parish Council	5,000	257	19.45	17.82	9.1%	1,344.28
Almeley Parish Council	10,000	261	38.31	30.29	26.5%	1,363.14
Ashperton Parish Council	6,500	118	55.28	50.06	10.4%	1,380.11
Aston Ingham Parish Council	3,900	206	18.94	18.78	0.9%	1,343.77
Avenbury Parish Council	4,000	116	34.42	34.44	(0.1%)	1,359.25
Aymestrey Parish Council	4,651	160	29.09	28.32	2.7%	1,353.92
Ballingham, Bolstone & Hentland Group Parish Council	6,000	291	20.65	20.61	0.2%	1,345.48
Bartestree & Lugwardine Group Parish Council	30,000	827	36.28	34.03	6.6%	1,361.11
Belmont Rural Parish Council	55,000	1,367	40.22	34.79	15.6%	1,365.05
Birley with Upper Hill Parish Council	2,500	130	19.24	16.72	15.1%	1,344.07
Bishop's Frome Parish Council	25,000	317	78.88	86.86	(9.2%)	1,403.71
Bishopstone Group Parish Council	5,500	197	27.94	27.15	2.9%	1,352.77
Bodenham Parish Council	13,000	458	28.39	24.50	15.9%	1,353.22
Border Group Parish Council	7,500	296	25.34	23.82	6.4%	1,350.17
Bosbury and Coddington Parish Council	10,000	363	27.58	25.76	7.1%	1,352.41
Brampton Abbots & Foy Group Parish Council	5,500	216	25.42	13.56	87.5%	1,350.25
Bredenbury & District Group Parish Council	5,360	162	33.19	31.29	6.1%	1,358.02
Breinton Parish Council	10,745	399	26.95	26.20	2.9%	1,351.78
Bridstow Parish Council	6,500	399	16.31	15.82	3.1%	1,341.14
Brilley Parish Council	11,000	116	94.92	75.06	26.5%	1,419.75
Brimfield and Little Hereford Group Parish Council	9,500	501	18.97	21.31	(11.0%)	1,343.80
Brockhampton with Much Fawley Parish Council	3,600	98	36.66	38.74	(5.4%)	1,361.49
Brockhampton Group Parish Council	6,000	324	18.50	19.34	(4.3%)	1,343.33
Bromyard & Winslow Town Council	186,035	1,365	136.33	127.48	6.9%	1,461.16
Burghill Parish Council	15,147	688	22.01	22.17	(0.7%)	1,346.84
Callow & Haywood Group Parish Council	5,700	212	26.87	26.37	1.9%	1,351.70
Clehonger Parish Council	18,500	477	38.79	27.48	41.2%	1,363.62
Clifford Parish Council	4,500	254	17.74	14.99	18.3%	1,342.57
Colwall Parish Council	77,259		68.25	64.04	6.6%	1,393.08

Parish	Parish Precept	Tax Base (Band D)	2016/17 Parish Precept Basic Tax Rate (Band D)	2015/16 Parish Precept Basic Tax Rate (Band D)	% change from 2015/16 to 2016/17	Band D Charge (Parish and Herefordshire Council's Basic Rate - £1,324.83)
Malvern Hills Conservators (Colwall Parish Council)	37,000	1,132	32.69	29.18	12.0%	32.69
Cradley Parish Council	32,500	775	41.95	33.42	25.5%	1,366.78
Credenhill Parish Council	18,500	633	29.21	27.40	6.6%	1,354.04
Cusop Parish Council	8,500	171	49.81	46.06	8.1%	1,374.64
Dilwyn Parish Council	14,206	296	47.97	36.97	29.8%	1,372.80
Dinedor Parish Council	9,000	128	70.59	91.42	(22.8%)	1,395.42
Dinmore Parish Meeting	0	10	-	-	0.0%	1,324.83
Dormington & Mordiford Group Parish Council	22,445	311	72.21	70.61	2.3%	1,397.04
Dorstone Parish Council	4,000	176	22.74	21.27	6.9%	1,347.57
Eardisland Parish Council	25,408	219	115.81	83.65	38.4%	1,440.64
Eardisley Group Parish Council	9,000	491	18.35	17.27	6.3%	1,343.18
Eastnor & Donnington Parish Council	4,000	142	28.22	25.82	9.3%	1,353.05
Eaton Bishop Parish Council	8,500	191	44.50	35.74	24.5%	1,369.33
Ewyas Harold Group Parish Council	35,683	434	82.14	63.92	28.5%	1,406.97
Fownhope Parish Council	24,000	414	58.04	49.96	16.2%	1,382.87
Foxley Group Parish Council	1,750	164	10.69	14.51	(26.3%)	1,335.52
Garway Parish Council	10,574	168	62.83	60.72	3.5%	1,387.66
Goodrich & Welsh Bicknor Group Parish Council	7,979	259	30.84	24.04	28.3%	1,355.67
Hampton Bishop Parish Council	10,000	202	49.59	48.93	1.3%	1,374.42
Hampton Charles Parish Meeting	0	22	=	-	0.0%	1,324.83
Hatfield and District Group Parish Council	7,500	211	35.57	37.03	(3.9%)	1,360.40
Hereford City Council	785,085	15,774	49.77	47.32	5.2%	1,374.60
Holme Lacy Parish Council	17,000	192	88.69	81.67	8.6%	1,413.52
Holmer & Shelwick Parish Council	11,450	800	14.31	12.14	17.9%	1,339.14
Hope Mansell Parish Council	2,000	130	15.35	19.28	(20.4%)	1,340.18
Hope under Dinmore Group Parish Council	8,500	146	58.15	23.64	146.0%	1,382.98
How Caple, Sollershope & Yatton Group Parish Council	6,000	161	37.24	30.65	21.5%	1,362.07
Humber, Ford & Stoke Prior Group Parish Council	6,863	284	24.16	22.17	9.0%	1,348.99
Huntington Parish Council	750	49	15.41	16.28	(5.3%)	1,340.24
Kentchurch Parish Council	7,250	102	71.12	66.14	7.5%	1,395.95
Kilpeck Group Parish Council	14,000	197	71.03	51.22	38.7%	1,395.86
Kimbolton Parish Council	6,500	198	32.90	30.96	6.3%	1,357.73
Kings Caple Parish Council	6,680	143	46.70	44.03	6.1%	1,371.53

Parish	Parish Precept	Tax Base (Band D)	2016/17 Parish Precept Basic Tax Rate (Band D)	2015/16 Parish Precept Basic Tax Rate (Band D)	% change from 2015/16 to 2016/17	Band D Charge (Parish and Herefordshire Council's Basic Rate - £1,324.83)
Kingsland Parish Council	12,500	465	26.85	42.97	(37.5%)	1,351.68
Kingstone & Thruxton Group Parish Council	10,000	388	25.80	23.35	10.5%	1,350.63
Kington Rural and Lower Harpton Group Parish Council	5,800	233	24.89	21.44	16.1%	1,349.72
Kington Town Council	73,739	867	85.07	74.61	14.0%	1,409.90
Kinnersley and District Group Parish Council	3,600	243	14.84	13.85	7.1%	1,339.67
Lea Parish Council	13,500	236	57.15	41.03	39.3%	1,381.98
Ledbury Town Council	305,050	3,363	90.71	81.39	11.5%	1,415.54
Leintwardine Group Parish Council	18,000	443	40.65	37.21	9.2%	1,365.48
Leominster Town Council	386,069	3,526	109.49	79.34	38.0%	1,434.32
Linton Parish Council	6,000	469	12.81	12.44	3.0%	1,337.64
Little Birch Parish Council	4,000	95	42.30	27.42	54.3%	1,367.13
Little Dewchurch Parish Council	9,900	181	54.71	47.68	14.7%	1,379.54
Llangarron Parish Council	7,500	477	15.74	13.50	16.6%	1,340.57
Llanwarne & District Group Parish Council	7,000	274	25.53	25.65	(0.5%)	1,350.36
Longtown Group Parish Council	6,530	420	15.56	12.93	20.3%	1,340.39
Lower Bullingham Parish Council	12,000	598	20.07	20.18	(0.5%)	1,344.90
Luston Group Parish Council	14,000	370	37.89	37.17	1.9%	1,362.72
Lyonshall Parish Council	20,000	282	70.88	69.46	2.0%	1,395.71
Madley Parish Council	18,000	409	44.04	41.24	6.8%	1,368.87
Marden Parish Council	27,500	532	51.65	36.88	40.0%	1,376.48
Marstow Parish Council	7,500	164	45.68	41.51	10.0%	1,370.51
Mathon Parish Council	6,773		42.09	40.78	3.2%	1,366.92
Malvern Hills Conservators (Mathon)	4,900	161	30.45	28.82	5.7%	30.45
Middleton-on-the-Hill and Leysters Group Parish Council	3,750	179	20.91	21.11	(0.9%)	1,345.74
Monkland and Stretford Parish Council	5,000	84	59.80	51.41	16.3%	1,384.63
Moreton on Lugg Parish Council	16,500	287	57.52	53.02	8.5%	1,382.35
Much Birch Parish Council	6,750	390	17.29	15.88	8.9%	1,342.12
Much Cowarne Group Parish Council	3,400	207	16.40	15.13	8.4%	1,341.23
Much Dewchurch Parish Council	4,500	251	17.92	14.98	19.6%	1,342.75
Much Marcle Parish Council	5,250	299	17.54	16.44	6.7%	1,342.37
North Bromyard Group Parish Council	5,000	320	15.64	15.51	0.8%	1,340.47
Ocle Pychard Parish Council	6,000	257	23.39	22.86	2.3%	1,348.22
Orcop Parish Council	8,000	167	47.95	69.48	(31.0%)	1,372.78

Parish	Parish Precept	Tax Base (Band D)	2016/17 Parish Precept Basic Tax Rate (Band D)	2015/16 Parish Precept Basic Tax Rate (Band D)	% change from 2015/16 to 2016/17	Band D Charge (Parish and Herefordshire Council's Basic Rate - £1,324.83)
Orleton Parish Council	25,000	356	70.22	55.50	26.5%	1,395.05
Pembridge Parish Council	21,000	453	46.38	37.76	22.8%	1,371.21
Pencombe Group Parish Council	10,000	192	52.05	44.87	16.0%	1,376.88
Peterchurch Parish Council	18,660	392	47.63	39.54	20.5%	1,372.46
Peterstow Parish council	6,125	191	32.00	25.48	25.6%	1,356.83
Pipe and Lyde Parish Council	2,700	141	19.20	18.48	3.9%	1,344.03
Pixley & District Parish Council	6,050	228	26.53	25.62	3.6%	1,351.36
Putley Parish Council	6,500	100	65.03	44.49	46.2%	1,389.86
Pyons Group Parish Council	9,130	350	26.07	23.27	12.0%	1,350.90
Richard's Castle (Herefordshire) Parish Council	4,650	126	36.83	33.22	10.9%	1,361.66
Ross on Wye Parish Council	315,711	3,785	83.40	69.50	20.0%	1,408.23
Sellack Parish Council	3,500	124	28.15	19.79	42.2%	1,352.98
Shobdon Parish Council	16,373	324	50.52	46.50	8.6%	1,375.35
St. Weonards Parish Council	4,350	147	29.69	28.33	4.8%	1,354.52
Stapleton Group Parish Council	5,000	143	35.08	33.53	4.6%	1,359.91
Staunton-on-Wye and District Group Parish Council	3,000	196	15.31	14.56	5.2%	1,340.14
Stoke Edith Parish Meeting (Chairman)	0	43	-	-	0.0%	1,324.83
Stoke Lacy Parish Council	6,000	148	40.51	38.16	-	1,365.34
Stretton Grandison Group Parish Council	5,000	218	22.94	22.81	0.6%	1,347.77
Stretton Sugwas Parish Council	5,500	143	38.51	29.57	30.2%	1,363.34
Sutton Parish Council	19,635	380	51.60	49.47	4.3%	1,376.43
Tarrington Parish Council	14,000	217	64.58	48.43	33.3%	1,389.41
Thornbury Group Parish Council	3,700	177	20.94	19.02	10.1%	1,345.77
Titley and District Group Parish Council	6,000	228	26.34	19.40	35.8%	1,351.17
Upton Bishop Parish Council	8,864	262	33.83	32.48	4.2%	1,358.66
Vowchurch & District Group Parish Council	6,400	313	20.45	18.66	9.6%	1,345.28
Walford Parish Council	17,133	641	26.74	25.45	5.1%	1,351.57
Wellington Parish Council	21,500	426	50.48	49.18	2.6%	1,375.31
Wellington Heath Parish Council	8,000	231	34.64	32.65	6.1%	1,359.47
Welsh Newton & Llanrothal Group Parish Council	7,700	146	52.74	51.45	2.5%	1,377.57
Weobley Parish Council	14,642	432	33.87	29.63	14.3%	1,358.70
Weston Beggard Parish Council	1,500	85	17.61	14.83	18.7%	1,342.44
Weston-under-Penyard Parish Council	12,500	468	26.72	21.02	27.1%	1,351.55

Parish	Parish Precept	Tax Base (Band D)	2016/17 Parish Precept Basic Tax Rate (Band D)	2015/16 Parish Precept Basic Tax Rate (Band D)	% change from 2015/16 to 2016/17	Band D Charge (Parish and Herefordshire Council's Basic Rate - £1,324.83)
Whitbourne Parish Council	9,500	334	28.48	27.38	4.0%	1,353.31
Whitchurch & Ganarew Group Parish Council	28,000	504	55.55	53.70	3.4%	1,380.38
Wigmore Group Parish Council	15,000	357	42.05	42.54	(1.2%)	1,366.88
Withington Group Parish Council	17,000	601	28.31	26.77	5.8%	1,353.14
Woolhope Parish Council	8,800	208	42.22	36.90	14.4%	1,367.05
Wyeside Group Parish Council	8,300	302	27.47	24.35	12.8%	1,352.30
Yarkhill Parish Council	7,500	134	56.06	38.48	45.7%	1,380.89
Yarpole Group Parish Council	19,000	<u>327</u>	58.13	44.44	30.8%	1,382.96
Total/Average	3,501,779	66,873	52.36	46.46	<u>12.7</u> %	1,377.19